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Note : (i)
(i1)

(1)

(iv)

(v)

(vi)

There are in all eight questionsyin this
question paper.

o p——c Ry
All questions are compulsory : ="~
In th.{:_beginniﬁg of each questinn, the
number of parts to be attempted has
been clearly mentioned.

Marks allotted to the questions are
indicated against them.

Start from the first question and proceed
to the last one.

Do not waste time over a question which
you cannot solve.
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Attempt any. fopr parts of the following ;

(a) Expressthe Ellipse (a- b + (a + b)y2 =a2 - b2
in standard, for, . - ,

(b) Prove that eccentricity of rectangular
Hyperbolax? - y? =a2is 2 . 1

() Solve the inequality 2dx < 100 when x is a
natural number, 1

. x+y+z Y
(d) M| x+z |=|5], then find value of x, y
y+z 7 If
and z. v
() Find distance between two points P(1, -3, 4)
and Q(—4, 1, 2). 1
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Attempt any four parts of the fallowing':- '
(3) 1fthe parabola-y? = dax passes-through the
point (%, -12), then find length of Latus

rectum and co-ordinate of focus. -2
| -
(b) Ifmatrix A =[ 2 3 J then prove thal
A= 4A + 51 = 0 where | is unit matrix. 2
(¢) Find equation of the circle which touches
'y-axis and whose centre is (3, 4). -2

(d) Solve the equation

tan~Mx+ 1)+ tan"'(x ~ 1) = tan™! 'jET 2

(€} Prove that triangle whose vertices are (1, 2, 3),
(2,3, 1) and (3, 1, 2) is an equilateral triangle. 2
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3. Attempt any four parts of the following : +. Attempt any three parts of the following,;
(a) Find, the equation of the ellipse whose (@ Solve the following | L
i ! ;icﬂ;]?? is 2/3, focus (3, 4) and directrix gfaphical method : g tnequalities by 3
(b) Prove that Loty>6,3x+4y< 12,
atb+2c a b — :
¢ brct2a b | =2atbtc) . (b) Evaluate : cot™! {\U -anxﬂfi 5D x}
- - I =sinx -1 +sinx
¢ a cta+ : . .
(¢) Fixd centre and radius of circle - (©) F"Td the ratio in which the line joining the
343y - Sy—6y+4=0 : points (4, 8, 10) and (6, 10, -8) is divided by
b a-b | yz-plane. 3
) ' (d) Provel_haizmn"\f%ws"(mj 2 e Lb 1l oa be
(-
(e) M{ ]] and B=[3 5].Find.ﬁ.-B (d) Provethat | | b ca =(a-b) b-c)(c-2) 3
02 00 | ¢ ab

andB - A. . 2
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Attempt any three parts of the following :
(@) If line Ix + my + n = 0, be tangent of
Py
hyperbola 2 b 1, then prove that
at2 - p’m? =2

+2 o
() Prove that lan‘l(@J !

=~tan~'x
2

(€) Find the equation of the circle whose centre
lies on the line 3x + 4y = 5 and passes

through the points (1, -2) and (4, -3). 3

(d) Three points P(3, 2, - 4), Q(5,4,-6)and R
are collinear. If the point Q divides the Jine
PR in the ratio 1 : 2, find the co-ordinates of

the point R. 3
Preafefi 3 @ fovet v @ve =) gt Hifor -
(F) (i) 3R cos'x + cosly = w2, @ fae
HIRTL % cos~'x = sin"ly. 2

() 10@ %% warTe fwm Geasl % ¥ gm
A, Bk e 1 dafwa _

1 0 2 X :
{@}'ﬂﬁ[.\'-j—l]lﬂ 2 J[dJ:ueﬁ_t:ﬂ

1
203 |
A= i Hifidm | 4
.. Atiempt any ome part of the following :
(@ () cos™x + cos”'y = W2, then prove that
_cosTlr=sig7ly,

(i} Obtain such a couple of odd serial

numbers whose sum is greater than i
and which are less than 19, 2

i 0 2 X,
b) Mx-5-1)| 0 2 1”4]=ﬂ.|}|m
203 I

Bind the value of x.

4
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.~ Attempt any one part of the following :

(a) 1fin any ellipse, angle between Jines joining

i the end points of minor axis and its foci is
90°, thien find the eccentricity, 4

(b) Prove thet inverse of a non-singular square
matrix is snique, A 4

Pt 3 & Ref o wve 9 e i
() s Pram ) T @ Pofifee whem
Frepma =) 7o iy -

x+2y-Jz= —4}.2::-+ -33.- +éz = 2" 3x-Jdy-
!

4z=11. 4

(B) sz faftr @ e w6t g e
xty+z=6 B
X-y+z=2
xxty-z=| 4

Attemp! any one part of the followirg :

(8) Solve the following system of cquations by
Cramer's Ryle :

I+2}‘—32’=-4.11'+33‘+22=l1r-3 —4z=
y-4z=11. 4

method :

rtyt+tz=6 htep://'www,upboardonline.com
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